V=4 7/

Hi-TechHh Paorts

MOTOPLASTIC, S.A.

Moli de la sal, 1 - 08403 Granollers (Barcelona) SPAIN
Tel. 34 93 849 06 33 - Fax 34 93 849 09 88
info@puig.tv - info@puigusa.com
www.puig.tv - Www.puigusa.com

‘ Tornillo original
Original screw

INSTRUCCIONES DE MONTAGE — MOUNTING INSTRUCTIONS — MONTAGEANLEITUNG

GUARDABARROS TRASERO ADAPTABLE A - REAR MUDGUARD ADAPTABLE TO - HINTERRADABDECKUNG FUR

KAWASAKI NINJA 300 13'-
KAWASAKI Z300 15’

|
| “L‘:“"‘-;.‘. \ 4
/\ a) »

SR
Q%h\\\}:\\ =
9

()

Guardabarros

Ref.: 6459 N

(color negro/black colour)

Ref.: 6459 C

(color carbono/carbon look)

DESCRIPCION DESCRIPTION
1

Mud guard

2 Herraje Iron fittings 1
3 | Tuercas enjauladas M6 M6 nut 2
4 Tornillo Allen M6x15 DIN1001 ¢/ negro M6x15 black allen screw DIN1001 5
5 Silenblocks Well nut 5
6 | Casquillo metalico Metal arrowhead 5




